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QUESTION 1

Given the following SAS data sets ONE and TWO: 

ONE TWO 

OBS COMMON X OBS COMMON Y 

---------------------------- ------------------------------ 1 A 10 1 A 1 

2 A 13 2 A 3 

3 A 14 3 B 4 

4 B 9 4 B 2 

5 C 8 5 C 5 

6 C 14 

The following SAS DATA step is submitted: 

data combine; 

set one; 

set two; 

run; 

Which one of the following represents the data values stored in data set COMBINE? 

A. OBS COMMON X Y 

1 A 10 1 

2 A 13 3 

3 A 14 3 

4 B 9 4 

5 B 9 2 

6 C 8 5 

7 C 14 5 

B. OBS COMMON X Y 

1 A 10 1 

2 A 13 3 

3 B 9 4 
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4 C 8 5 

C. OBS COMMON X Y 

1 A 10 1 

2 A 13 3 

3 B 14 4 

4 B 9 2 

5 C 8 5 

D. OBS COMMON X Y 

1 A 10 1 

2 A 13 1 

3 A 14 1 

4 A 10 3 

5 A 13 3 

6 A 14 3 

7 B 9 4 

8 B 9 2 

9 C 8 5 

10 C 14 5 

Correct Answer: C 

 

 

QUESTION 2

Which one of the following SAS programs displays the descriptor portion of each data set stored in the SASUSER
library? 

A. proc datasets lib = sasuser.all; quit; 

B. proc datasets lib = sasuser._all_; quit; 

C. proc datasets lib = sasuser; contents data = all; quit; 

D. proc datasets lib = sasuser; contents data = _all_; quit; 

Correct Answer: D 
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QUESTION 3

Given the following SAS data sets ONE and TWO: 

ONE TWO 

YEAR QTR BUDGET YEAR QTR SALES 

------------------------------- --------------------------------- 2001 3 500 2001 4 300 

2001 4 400 2002 1 600 

2002 1 700 

The following SAS program is submitted: 

proc sql; 

select one.*, sales 

from one, two 

where one.year = two.year; 

quit; 

Which one of the following reports is generated? 

A. YEAR QTR BUDGET SALES --------------------------------------------------------- 2001 4 400 300 2002 1 700 600 

B. YEAR QTR BUDGET SALES ---------------------------------------------------------- 2001 3 500 . 2001 4 400 300 2002 1 700
600 

C. YEAR QTR BUDGET SALES ------------------------------------------------------------ 2001 3 500 300 2001 4 400 300 2002 1
700 600 

D. YEAR QTR BUDGET SALES ------------------------------------------------------------ 2001 3 500 300 2001 4 400 300 2002 1
700 300 2001 3 500 600 2001 4 400 600 2002 1 700 600 

Correct Answer: C 

 

QUESTION 4

The following SAS program is submitted: 

data two; 

y = \\'2\\'; 

run; 

%let x = 10; 
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%let var = y; 

data one; 

set two (keep = andvar); 

z = andvar * andx; 

run; 

Which one of the following is the value of the variable Z when the program finishes execution? 

A. _ERROR_ 

B. 20 (as a numeric) 

C. 20 (as a character) 

D. . (missing numeric) 

Correct Answer: B 

 

 

QUESTION 5

Which one of the following statements is true regarding a SAS DATA step view? 

A. It allows write capabilities. 

B. It contains global statements. 

C. It contains data and a descriptor portion. 

D. It contains a partially compiled DATA step. 

Correct Answer: D 
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